Sample characteristics and mortality outcome by treatment

TREATMENT = Placebo

TREATMENT = Active

Variable (N=250) (N=250) Total (N=500) P-Value
age (Mean £ SD (N)) 51.6 + 17.9 (N=250) 49.3 + 17.6 (N=250) 50.5 + 17.8 (N=500) | 0.13*
age (Median (min-max)) | 52.5 (20.0-80.0) 51.0 (20.0-80.0) 51.0 (20.0-80.0)

bmi (Mean £ SD (N)) 27.3 + 4.1 (N=250) 26.7 + 3.9 (N=250) 27.0+ 4.0 (N=500) | 0.10
bmi (Median (min-max)) | 27.5 (16.6-37.0) 26.7 (17.7-37.1) 27.1(16.6-37.1)

female

No 118 (50.2%) 117 (49.8%) 235 (47.0%) 1.003
Yes 132 (49.8%) 133 (50.29%) 265 (53.0%)

Total 250 250 500

died

No 37 (44.6%) 46 (55.4%) 83 (16.6%) 0.343
Yes 213 (51.1%) 204 (48.9%) 417 (83.4%)

Total 250 250 500

weightcat

Not over 116 (47.0%) 131 (53.0%) 247 (49.4%) 0.15t
Overweight 68 (51.5%) 64 (48.5%) 132 (26.4%)

Obese 66 (54.5%) 55 (45.5%) 121 (24.29%)

Total 250 250 500

1 based on Mann-Whitney test
3 based on Fisher's exact test
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